Ratio to CMS

e
H
o QL <

[EEY

0.5

M T T Ty

Pythia 6.428 default
---¥-- Pythia 6.428 dw
—6— Pythia 6.428 p0

7000 GeV pp Jets
§| T I T I T I T I T | T I T I T I I T | T I T I I T % 9
= . y 1
= Filtered dijet mass (anti-k_(0.7), 2600<p_<800, |y|<2.5) =z
— - =
= =W
= Hal
—g E_ Nl
= =9
= -
= =
= 5m
- =23
- e
=5 =
2 ?
C' m CMS =
= | —A— Pythia 6.428 370 =
---0-- Pythia 6.428 atlas-csc
--+-- Pythia 6.428 d6t

*—_—_—_—_—_—-—-—~— - =G4 -

L | | |||||||||||'“"|||Iu|| |||||l|J| LLLLI

200 L
(m_ 1+m_2)/2[GeV]

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


